RINSEE RoRiiE #HBR

INU—MR—)L(&ZF)

REBHE
S JSTEE S

2—0 )
2—0 )

208 X
ClEIL A
ERRES/X [@F3 2—1#

ERE 0 fLWEZF O—2EN @31

SFNRTy R—IU

108 /31 REBEF 57—79E

GFINRTy BR—=)U

108 /31 Rl 60—-62(E

BFVYIRTZR

milZN

20 /3 R 3—0EH

308 /1 RIEBIE 2—-0E

ERRE /X ANIE 1 -—2EONRZL8

ElF - FB (4088, AW - SB(3OEEN,TTT - 8IS (208, 21| -
NN« I3 (2 OEED, A « A2 (2 DEE), AR« WH (1 DEED

NEF (2 DAY

ZFIIRTZR

WlZN

20 /31 iR 3—0#)
SO /7 R 1—2(80
88 « ML (40K, 68 « AB (30K ,SIE -
K « XB(2 OB B - P

BIF (3OER,BER « KX (2OHEY

S (ZF)

101 RIFE 3—0

20, /39 AN 3—0

SOE, /3 REZFEE O0—3HONILS8
x5 (6 D) @R =8, INRT (4 DEE BE (4 OE),E(SOE,) 10 (SOEED
M(SOEEY 1t (3OERN B (2 D, &5 (1 DEED
T « '8 E(50E) @ 8, it « KRIF (40,10

B (SO, B « (SO

8 (BF)

FEI-T/3 RBIHE 1—-1@)1 A O0—4®)x RIBH O0—2E
WA (208, FAR(1 DR, KK (1 O B0 (1 DEED

) —D8IR

&8 (ZF)

FEI-T/x RBBXK O0—4@)xd BH O0—2® 'J-THR

NAS (3 OEEN, AT (2 DERR) 711 (2 DEED),) 11K (1 DEED

b EERi (B F)

+ 100m AR (FEW, S (FER,SH(FEW
+ 200m ™R (FER, SN (FER,SH(FTEW
+ 400m IO (FEW, S ERK), SR ERI
+ 800m EW),SR(FER,WO(FEN
+ 1500m DE@ARIHENINKELEE], EH(

+ 5000m DE@ SIHLNINASEE], KRR (
+ 3000SC  AfH (&), B (FEH)

- FElERt (2 30

=B FUO4IHENINARLE]

< P0®E IO 5

'64 H N K
i Fﬁ&‘ Fﬁ&‘ Fﬁ&‘

L]

TEWN, 5P (F

TER, P (FE

ER)
=)

+4X100mJL— S8« A < )I0 « S ERR
+4X400mIUL— NTh - BR « S8 « SHEERK




bE L3RI (22F)

+ 100m B5)1| R, 1T (FEK)

+ 200m B5)1| (ERED) 2= B (EEIREN)

* 400m B5)1| CERED), 2 B (FZR) A (TR

+ 800m MA(FEN,PHFE(FEN, PEE(FTEN
+ 1500m SDEE(FEW), PEY(FTER,EE (FEW
+ 3000m && (2 0f)

«ESH FM(1 31D),48F (5o L)

- EMZBE  BIB (ECiFSL), 1T EeizE L)

< 0D’ FAREGEEFEL)

+4X100mUL— 17« £\ - BB - B (FER
* 4X400mJ L — B&B - F/ - DEF - B)II(FTER

3SE(BF)

S8 (ZF)

YvN—(EF)

108 /31 RIEBEHHE O—1 EY

NV RIR—)L(&ZF)

20%./x RIBEBKX-E8 26—9 @)
R /XT RIGE 29—1 8 ()
REs /x) EHREE 34—1 3 @BENINKSEIHBEZERE L]

NEXYRY(EF)

WlZN

BAW
BAS

108 /31 Hh&m 3—0

20/ RIFLZF O0—3E

WA - 28 (1 D8 EW - FEH (1 DR, RE - 28 (1 D88
R (SO, TiH (20K &L (1 O

IR

L%
BA

@ 31
* DSk OEROBENNASHEEZEASEE]

KK (B53K)

« BF 50mBB; EMR(FTER
* BF100mBdE B(FER

EFIK

NHKMERZ 108, /3 RE 7—8(E




